Diagram P/N 8-780
Ref. # Part Description Qty.
/80 blower idler bracket ]
780 alternator bracket
] 3/8-16 X 7" bolt
2 3/8"-16 X 3" bolt
3 3/8-16 X 11/2" bolt
3/8" flat washer
3/8"-16 nut
25/64" ID X 3/4" OD X 5.625" spacer
25/64" ID X 3/4" OD X 3.625" spacer
25/64" 1D X 7/8" OD X 1.375" spacer

Serpentine blower pulley
Serpentine alternator pulley

Serpentine belt 6PK880
8142 alternator

B e B B () —

OPTIONAL: Blower belt shield can be
custom mounted to brackets as shown.

Drill 3/8" hole
in appropriate
location




